[Boc® 888 ;5648 / wupir udiyfewvwewg / All Rights Reserved]

~
( 20 Sedoe / ugw um s85° 15 / New Syllabus )
DEMBO o)) lzom eCHOMEDHNO
esmoy s spe
286D evIg SO ©Y) (15 esg) Swins, 2021 e @Y
odmas 1 ] [ o8 @end
( )
SID PorDGB - iviiiiiiiiiiiiiiieaae
[OOT VOO wSm 8.
@ Noewed gutesm
\. J
—
( Orcons : ) o8edcsied yewldmn eewr &4,
o0 | &> go cRe

* 098 yad» sns 89 8 83 ©038De. A 1-25
* 000 83e0d, nENS BJeds Budm B 1

SNDOR Ved SwI® g [OIOEO Bwusim. 2
*¥ g 8BoEEd © 88nd; ¢®® oyed @ 3

385632532, 4
* 88nos ©® B88nd (cHos gmdesd >

B0 8 8 gdme «Ss @ ;B @b oond

5®1en 5enismEd OBID.
% odm0cO BEad swoBe88 ame Beds o | || i |

SOGE S e, oeg ol 300D oS
* oom ¢mor 18 o6f cRE geme 068, [ | s | s

A 6008 @0 8w 30023 GozDCS

O3 O3 gE»ed cRey 2 MBB.

B em0ee8 o0& 0z 0023 oD

O3 928 gm0 ey 10 83,
* 29 O s 86 08 ceon HSe. gy 8w 300D oS

\ J
\.

A8 ves gLILD E¢VNEBLIND - 308D gownd




-
A e20008es
gd® 8cCRO® 000 uvyed® B8nor ewwsim.

01. 009G 1 @®I® B8O wewr 8553 3 2O T 6 » WICES O 6. Oed®sS ecrencs
edE@IED emIsd® 85 4 Bl 28 O1HBO0 @B BBeys’ Bwes eweds gue?

02. 002 @e0cssm. X+ 2% - 15

03. Grsed 18 e0CT 8O X 8 4O 03535,

04. log, a=4 2O & g3»® a 8 goc etIwsIs.

05. e qlzﬁ@g\)m Dar¥mHe3 @\m P,Q,Rx SA@wbos
8801 g». SRT=170" ¢ QPT = 40" ¢ »® QTR 8 gow

©e303535).

[06. 682 mFeedc; OS5® dt. 40 000 =5 § HBoes e3¢ ¢ S DIWED O8um® B¢
gBame 57 3 5® DS e3¢ e0dn gy d8um® Ag e @W®ens?

07. ced AB 885 Scisencs O 80 ebdned app®ens eensIm.

.
B3 wgrd VI E¢DEBLIPD - DL Gorcs



p
08. c®® €30ABIIOE W LI PEHIDICE BEIBBI).

2ab = 2xaxb
3 = 3xaxa
4ab’ = 2x2xaxbxbed.
09. 0053 g5 183853 n(AUB)' eesacssio. . €
A— —B
4 6

10. Besedm. Xt 5 _

11. oo & &8 o OvisBed asind Do Boess eewsis.
3,4,8,10,12,12,15,19,20,22,24

12. ABC Sewmiened AC »1 BC ©1cdc ®@ncmsss
D »5 E 9. ised X @823 ¢iidedn ewmiened
BRoc3OG @e30:3535).

13. 090 w03, 2ab . 4b_
3 6x

14. o ©0wess & S emoncT e X 8 ¢on ©e3wSID

2e3080 818 gBIBD ENEWEBBIND - .0V gomes



p
15. 202000 eDvewsl ©®53 vz B8w medes 30 IF BE 600 m = ©O 258, ®8ed
D6 M0 SO0 ORI ee3wsIH.

16. (1 3) |:2 O:I = (X y) 20 X ¥ y 80055 06303535,
1 2

17. g3¢83 S10882 ¢ 01850 S sovm & ¢S gmamed Lozl »odssm.
“Oaty DSty e &3 B8e®x3 wrecm BB

©B®1 @D,

I8. O3 wdomw O gowe 8BS O etd 1 8O 10 eod god @i sUDes® s
o3 OGBS vl e DINES emicivst 80 O® vest gon gYen DY
30250028 Be® ©®0IDND ©€30BIB.

19. ABCD ec®deseds AC = 16cm ¢ BD = 12cm ¢ 5®
@0®ReeE 66D EO ORME DOBIB.

20. Sved & @18 Bedded wotnd dBEdE: scm’ S O and ©8 8o 12 cm =3 @O »H®
Ged®ed 8810 wenms IBID.

DeSeNBO v GBI EeelHEdSIPD - OLOD Gowes



(21. g 18 G 0wt gm8s8 ones® Sewmler GOREE MO G Gowes® O §OLD Ewo

eOs3. C X R

Q

B Z P

22. »36w@O BOF 2 » BemOeBs e6 ©E O DRSS OeBwes B80B® ©wewr om § IS
BN 2 =3 H® DeBed DBHd eewsI.

23. 2,10,50, ... B QeeISHd egded,

(1) e gmomms (I) eenssss.

(ii) ©® egBed 4 D» oo Bwe?

24. g0 Tcmwo ¢es 20 cm § e angf Daty BESICw@m T 8w0wms @8 ¢ @d.

8EsI00ed D ©aEd) DBOdEE @e30nsIs. —
\__/

20cm

25. P o Q vy 8cm =5 823 883 cmenes oS 0D, P 01 Q cexndE0 e® 823 v P ewenwsd
5cm =3 853 883 cwennes @0 ©BIen GaIcs (g ©dHENS OGBS POsm.

DenBC ©ers gBILD ELINEdTIND - ©3.0UDD gomes




B em10¢s
yd» 86CEO © @R vyed® 8ot wuwsiy.

01.(a) 68c ci8asc 50 000 » e 8% » DVED 530 el RIS eEds V1O
e 08, 90 ecws gdmimed 990 880m §O e ems®ens?

(b) 13BC D0 e gdemed @ §O L@ @witdr emdem edeese e diBei 293 o»
68100 0106 Bc & 0NE. O® & IO e eI TIBGE 5 ABs3 W8 I
eeda.

() 1983 8¢ & o e0t3 v eIOeHE?

(il) B0 00 @IS Creds DIWBD® RIVIE FIIEO EDISOeHE?

(iii) Oe300 gy HBE OO 063 BuEe 88He®s3 6186 4 000 » 8D o
CR8 »® oL Sea® e ewinsis.

02. ees’ edsles’ BOw® ©ed nEed d® BR® A 9m B
0. ¢ Dl Dedd) EIVLBS3 Wi wariewIenIez12DIC
2106853 0538 @d. Tm
() ©8 ABC qoo 8od gg om0 anf 0 o€ 86© g L .

¢ 1 M2 s0mde 80m e 89880 4danE W)

DER DEHD) OLBBID.

(ii) scOmEs e 058 23 i 3O emiDets OVOICE BeBWB DOBIM.

(iii) Oaf> Qe eVets OBOOE@O 8150 AE @883 O otd wmigjemienity e0em
8053 ©0ethE aCGCH Cled P, OO emdetd BeE eBIBTH.

De3980 verd glB1e ELDEBSIPD - 3:080D Gowcs




( )
03. yéocend 9Re8s3 1—73 2 5@ 8u co@exs’ 88 8 ¢18. 0y 9© ¢Re® @88 emd8s3

% = 0O B88cOnees’ 8c & oSa.

(1) 290 8 co®ewss’ 88 § o106 00 90e® 985 @20t emIs®ens?

(i) @y e & o et §O 9O} WO WIS ¢?

(iii) 20emed YO 88 § O 9OB y&Iencs &UD 66 B »H® BYO Bw cTPewss 88 §
P0® y®rens eI®ens?

(iv) oDe® @y o §O y@1ess c¢d ©®0 BBys 6 ecemrnO & 55 o ¢d »P, E»
2 853 00 Ox gdes’ B8O ewedn g 8Kyt vy ems®ent?

04. (a) O3>0 esIBmmidum A8 83x 88ers OF 8o O  guwd
oo g0 Sved & g O yEmIdens’ ¢S @, 5 ®
8loRex e O 110 Dbnw:S s®ens emid vuizn R

(i) ®e emicost 88e oD@ emicios’ 88 e®x3 Bz’
Qe »H® DOODE emicins 88 Howsens O
odsien dathed elsls eniaed SmEEOn @e3wsis

(il) ®O enicios? 88es 18 F 0@ TS emiciost 85e ems®enc?

Lk
(b) s=38cm €8s B8umed Lwside B 10+

BOOD g8» ¢ HE ebaws dved ¢rsed. g 1 [ ]
6 4

() o5’8ed 83» O €8s Ve EWISOEHE?
4 -

(i) % obAw On QD EDICHTT BTEBIS 2T |7

8OO0 wodimom By qgo GLoim. V 40 41 42 43 44 45 46 47 48 49

edmstas (1kg)

\ J/
Ded0BS e gRBISL EENBEBLIPD - 3:06LB Fowrcs




-

05. (a) oG b DeBI®D0 10 edBed Busids Becemnm @ 11 egdded
Be110253 ecocemns enidienm . 88D G5t onnm HBEDB® e g BHs3
82853 Bwr10s3 ececemn emiciny) Cred. HBOBN® @¢® eI B8 KwxIOO

08 880 203010 ex2need. 10 egddhed w3 T, T, T, @8x8 ¢ 11 edHhed
Be023 E, E, @83 ¢ crsed.

(i) eoich o D8 Bud gud gresd Bod E,
2DIRE EMIJLIC BE BIBHS DIB™. g E,

9
g
(ii) U200 ec® sco 10 edhed Buridsd g T,
o107 C1Pe® IV ©e3BBIB. (g" T,

T, T, T, E E

oe§ »Umms
(iii) »b220 ee» ©eH edd e Sewismws

20823 Bex1053 ececemnn emid ofed
83 @7 ¢IC DC OO @0 I O8
280189500 w0 OB,

(b) A® B 5® 018m ecom 48 O 91 812 O ©10 eAE D I
®en I HE 810 eAIE v Jrved (B0 . ePows O - 3 o - 3
€8O A msmens! edices @00 eom A 8w B 918mwd | g -2 BE -4
¢® @50 B widmens’ oo 9dn0 o cR8. 8e »i8

888 123800 ¢8» c¢ S8 OV s ¢S ©d. \T/ \f/
A 018850053 ©oSe B ®e8mens’ o 53@®
o
3 o
5
8¢
o
5
8c
8¢

(1) acc 8N HO8S3 Tz 0w wdYYes I,

(i) ©8» econs’ OBemmO edmts OUemdEs Y eAC C1Pe® 3®WIDND ©e3nBI™.

J/

D380 s gD eI - 30802 Gorws



REMBO o)D) HiNoD MBSO
SSMoD SeN SNEG

8RB eI ©SHRD By (I8 esg) SwInas, 2021 e¢s @AY

o&Ems II

&1 S 8O0 Bd® s - 885y 10 &. ]

300 Bud® Mmcs Y& s Bud yd» emidh 01N 88xdi BSe® ygatds ecm
B 3000123 DG ANV @wIOTID.

Do ¢

A emdes’ gan s 0 B emdens’ gan s emddeon gan ¢uend BExd tursim.
gE2OCO 8ot w18e® T goc 8wdd 0 B S B ¢SO,

€310 gE®HEOR e 10 8= 88 @°.

eped 4o re co he O e Oudn 885306ws 8800 nr‘h 6.

g0 1 § ewdcnm 8O %nr’ @o.

(OB O ONONO)

A o208
g O e 8nJ BueEI®.

01. 5230 8 30 25 e & esE D s 97153 B Oydy O d& 83 s 88d¢
emIORTT 8o OQed ¢ ©0. e®8 0 — 6 823 ¢Pedstes’ 00 Ot 18 e®» 6 0 Ot
af) e»d 801 eBIHa.

e (B8siy) 0-6 6- 12 12-18 | 18- 24 24 - 30 30 - 36
2 oen (e302305)3) 4 5 7 9 4 1

(i) ©®® OxviIBed O 538 POe?
(i) 2 @8 emIncORD P g1 e @ dE 83 LB WIS i8I BBHPOO
©¢€330535).

(i) e®eces e B OWedm & 100 3 ne g1 @@ dE 83» mcs & 1 eFedn
DO groed Spdud sDed. A2 00 Bu@m 8O® O® DBIess ¢? S ¢ BB ey
820 ©188 wos».

02. [ 5183 65 000 20 85380 Gecd dBeers v WIedd) OOcHS B 08w 17 000
8 @00 988 3012 @18m D18 12 B ewdr B we ¥18 88 8¢ & ov v g
€53 8¢ 18% » D8® el amIBnes cde 8205 eds POGO eIBB VeaHS
eneb.

£30e32g e BUenE Hebames 0 8 0@ ¢ 153000 amd v POEO K WIEL) DOOCE
Bce o gqur 3853 endu gy @18 DIBBGD ¢On HEBWS BOBM.

D380 e B e¢HEdSIRD - OB Pors



(03. —4<x<2 @3 1306 B y=3-2x-X" D0 Goed x eos Bewmd emcs ¥ @O qzﬁ@@m\
8o DR s (rSed.

x -4 | -3 -2 | -1 0 1 2
y -5 0 3 4 ... 0 -5

@) x=052 80 y8 goc etnssim.

(i) e3®O> g OB O gLy BB @6 OB YU g OO XD & B OB®S
Boed e300 gedmd mBer8nn g8sim.

(iii) Zedmced P 1T® crred DeBde)In Buwsim.

(iv) & B Obws o y=b—(x+a)’ 8129630 gem® 2SI, @88 a3 b 37 3081 @S,

) 0<y < 459550006 e Boo O180m x 8 o HI5ios Busim.

04. (a) e BR v B8 B3 Rerwd D T8GR 5 8B5S O8n. ewast 2 23 esw &3 523
8 & o RN®D 518w 1753 O @d.
(i) oo B G186 X 6» s BE GBGE y oG e0m QD emICRCT BORS€HN
D0 OB @0es YOEKS e®ID) DD
(ii) ©® ©®nden S5:8e®s e I B BE eeNesIB.

(h) Seseo. % x-1>5
Q

05. AB w5 2080 80 sneom8cd 18 e} ey €30

obBw @Wown 0068, A ¥ B o0 880 18

8oed poovs PQ 0853 ¢z 0. A80 g 80Q 8

wedine emdess 53°8. AP = 60m =5 0. Q §co3

80 B cmesd 0@ oy ®03em o 150m 8.

(i) oo 8 g8 e ¢e T ©DHLRS OB 2POS3B.

(ii) Seiend8m gy 98news’ 6w 853 HOHB=3 PQ ce gressts BOcwd vens)s

D053,
(iii) B 80 S38msenc e 80 Q 8 qedivnes eniens § PﬁQ > 30’9800 99 ewxossm.

A [ B

06. cised ¢1Beds ABC sajenidt Semiennis ciGeSs3 ADE A
safemid Semiennmd emides m 9o 8. AD 2o
S x O g0 DB 20 0853 e¢gencs @®. DE 01 BC
€00 8o AD S0 D& S 2 823 0 S 3 8Bx3 O1Ba.
988 emiDetd DODCEE ®e POTBE emdetd Vv dEH e®=3
B REBEDO DE) OB® Tom 4 8BS 83 018 00 »H® x 0853
x'+4x — 8 =0 ©3®mdencs mesy DO ¥D el X O o

e 90 gons A0 eus3ostm. (V3 8 sos 1.73 ece oxim.) B C
D8 e g2 E¢LIEHEDDD - 308D Gorcs




B e290es
gd> O VS B8nJdy eI,

07. &0 SB8e® & 88 120 512 132y H €30 3525 CA® ¢O H®ren 1o 830Vess ¢ ©d.

45cm 42cm 39cm

i) Bt wredtdc 530 8Be® € v BP CA® ¢O ews®ent?

(i) 08 Bt ©Ieds BEOCIOGBO e Dsies’ BO» 8OO gdesmeEs?

(iii) o e BEOCHIOEO OB BO 8RYH) CAB O 0 eI®eHE?

(iv) 589 woedtics BBEOEmIOEO 53D®0 m¥ess 10235 om e @ G ©r1e38ds OEHE § D1

©D® ©e393535).

08. s ¢E8edm Bb®res ese®r cm/mm s8@r1encs 385 e30E 0 ) DODYDS O eH2S ©IDD
oS3 BBOren et s1018EO ¢SS,

(@) 2o 8cm:z O AB es0c ot dediws BE®rencs w3 BKC =60"3 ¢ AC=6cm¢ O 88
ABC Sewienc 535&renw 0532

(ii) Codwr AB eb@190 8125350 081028 BB@rencs T3,

(iii) B 0 C 0 ©8¢8s3 883 cmswsied sde SB@ienc 6 @um € 815353 @b@nd o O® 0w
edemn O cmsn O ece 50 HIID.

(iv) OC g0 § O eds¥ces §) Dadores BB@rencs 3 OO Dastmed gdws @ Busim.

(V) D 82 oo edemo O et CO oband &5 mostm. 080 guo 88 c¢ datmes BCD
Bewiemed B8 Dt ¢?

09. ABCD es@s3mdoggecs &g CD waces ®m E oo F s 880 grfes CD =EF ©» 88 0. AD
2 BE ebia P 8¢ edexa od.
P . E_ D . C

A B
(i) BCE¢ =ADF¢ @9 evxioxsin.

(ii) ABEF e3®153500e5028 @O €300 2902532,

(iii) APEF &ycgged dbodcs © BPDC dndged D8e0dE0ed 65012 2D ess3dnsiz.

tI0BS sers GBI ecetned®sid - 63:0LOD goas




I

I0.

II.

I2.

O edSes § Ofmedd A,B,C,D o E cdescs dadmed
83O 88 gua. CB oics F ¢80 0 qum.

() EBF=90 — OEC 29 es=30s3%

(i) CAE=90 + OEC 29 ewzidzsis.

A

F
gd I¢ ¢t 3a ¢ g wen gy Ot ecy 8E5300w cewmd ey gues exn® et gds

ag ©® eclky abd euic 3 = oy Cred. BEHIC1NIC 8 ey ROJed ¢dt I 5H® 1 =Jz a
3
O eI a B gowr 2.55 cm = e eo® G D@D HIDmewrs’ I8 gus Bef (rBEGIZGO

©€30C353B).

e®DC §.0w0.8. (£0.05¢) Bwinn ¢wI ©IBOD ez’ BOtsmwensd ©eBn e §BIRIBIS

C1R ©Pede BERe m0» ¢ @ msentm & 325200ems § emdnc Buw:s suwm ¢rded.

o ®OBoom OGO gBISHS CIRDS 22 = ¢ evg e 4183853 gddvismys CRDSs 60 ecems
¢ G188 D100} @B53 g6 1D 29 e¢emys ¢ O® 88es amd §».

o OBooOm PHOBO GBIBHG G B @HN® eug IS WIDHEBSS ¢ FLBVIBHE YOS
go.

o J5088 ) 00wzl 085 @ SWoom POGO ©» @12d BRSO v C1RDSS
BBedS 0098,

(i) >vm & 18 003 15w BOws mSenm RED B 5O BJ @D @ISR FIRCH WOBIB.

€

(ii) 0®® @Bs Re»S e PeHS VIBMews’ VIS C1Y €8 v 36 ecomns »H®
@BE 005 O@53 W 51308 OB 30053 OBT GRLILBIS C1Q) t9RBID EWIB€w?

(iii) ccesis! 0853 €52 LLIBHG R1f) L30DBIO EDISOHE?

(iv) @Boonm OO gdBIBIS @R €8 B3 3021590 58 3 5H® gum Oz OO 0o
eNDE €I 500100 esOene?

(V) 28 ecs 9= ePenn emicIHnm eI DY U 3¢SI O VOGBSI @ end lBISHES

C1R0n Be® 501100 @e30w5IB.

S50BS e gBILD @¢EINedSIND - ©3:OUDD o




D358 e gdBID @¢ne®sInd

gOBn® oo el oy (®is esg) Swins — 2021
OB Eo0 YED SRS

B8nor ona
I-ome — A emdes
I13. 2ab x 6x_
01. 3x6x2 1 3 4b
4 =ax
=9 1 @
14. PSR = 70°
- +
02. (x-3)(x+5) 1+1] @ . = 110°
03. x=40 e 600
x+x+100°=180° IS. edos = 30
x =40 @ 1
4 = 20ms’
04 a=3 1
a=38l 1 |@ 16 x=1x2+3x1=5
y=1x0+3x2=6
05. QTR=40"+70° 1
=110° o 17. @80 exndenwd
0080 eiencsO
06. G 40 000X 1
100 18. {1, 4,9
St 2000 1 |® 3
10
07 Oens = 6-0 1
R 0-4 19, o o =[8+ 6
= -6 -3 1 = 10cm
) [cI5%) > @
20. 8@ =8 X 12
08. 2X2Xx3XaXxaxbxb 1
2 2 = 96cm’
12a’ 1 1@
21.  ABC 2 PQRA
09. (AUB) ={1,46} 1 230.0293.250.8 03000
n(AUB) =3 1 |®
22, 0Bm® =2[ x 120
10 x+5=33 1 =240/
x=28 1 |®@ 23. 1) r=5
1. &.Om. s = 20 - 8 1 i) T, =250
=12 V19 24, o
2 x+70+50"=180° 1 -
x =180°- 120° 2X £ X7x20
x =60 119 880cm’

DednB0 e gdBIsD ecimed®sind - 808D gowcs




01.2) ©e3090 ©08c = 67 50 000 X %

b)

02. i)

ii)

i

I-ome -B emids

= Gt 4000
Des 200 eenBws = o7 4000 x 2
= gt 8000
8C §ce = Gt 50 000 + 8000
= &7 58 000
i) 5800029
2000
i1) 1. 5x2000
dr. 10000
iii) ot 4000 + 2000
ot 2
Ot. 29+2
g 31

ABC 2o

i—x21tr+9
-1 x2x22x7+ 9
4 7

11+
20m

9

ey 0w = 20+1
1
=21
DwdEne = %Ttr2+9x7

=lx2—72 X7x7+63

4
= 38.5+63
= 101.5m’
A 9m B
E+—> «—> D C
sec(x) = 385+7

= 5.5m

| ®

1

S

1
10

OOk 11— wiee8 66

T — et 66 x17—1
= esb0ed 42
iv) O gy@rens =886 X5

=8.2 30
883 oems = 30 + 2
=15
04. a) i) 360° - 200°
4
= 160°
4
= 40
i) 18 x 110
90
=22
b)i) 4+12+9+9
=34
ii) ,
104
.l _
)
Y6+
8
%41
? : —
2T : Do
/\' 4:o 41 42 4:3 44 45 4:6 4:7 48 4:9=
st (1kg

Iz] o

35080 v LI e¢tne®sIRD - bR gowen



05. a)i)

E].X X X
E }| % X X
T3.X X X
T, | [x x|[[x x
T, X X|[x x
T, T, T, E, F
iij) 6 =3
20 10
i) 12 =3
20 5

s 3y 4 $2x2

i) $x5+5X75
12,4
=35173;5
16
35

II- o9
or. i) (18-24)

i) [ ) [x [d ] f]pd
0-6 | 3 |-18] 4 [-72
6-12 120 5 |-60
12-18| 15| -6 | 7 |-42 |-174
18-24| 21 o[ 9| 0
24-30 27| 6 | 4 | 24
30-36| 33| 12| 1 | 12 36

D @© |30 [-138 |D
®smne = 21 +[—138:|
30
= 21-46
= 164

BRBZIBG IS = BB 16 (goessiz)
iii) 8S8s¥ny 16.4 X 100

3RSy 1640

o1 27 8853y 20

&1 278, 20 > e 24

FnBe 0w dw @d.

1+1

p—

©)

10

02. 98 8e¢® = 51 65000 - 17 000
= Gy 43 000
€ ©0e = Jr. 48 000 + 12
= Gt. 4 000
®oédd O

o= 18 y 1
ows0Bes ] Jt. 4 000 XlOOX 15
= Og. 60

@8 O ©ewD 172 X 13

=178
g e@98s =01 60 X 78
= Jt. 4680
§® §cc =0t 60 000 + 4680
= O1. 64 680

©8z D8z = Tt 64 680
03029® 12

= Jt. 5390
03. )x=080y=3

ii) g8 9®r0230
ces crg 8500
€300 D8 ¢1&@®0

iiii) (-1, 4)
iv)y=4-(x+1)y’
a=1 b=4

v)-3<x<-1

04. a)i) x-3y=5
2x+5y=175
ii) 2x - 6y =10

y =15
x =50

b) %x > 5+1
2x>6X3
2x>18

x>9

1
DtInBJ senst g e¢eitinednd - 2080 gorn

e =]

O ©

B
(=]




05. i) 07. ) T,= a+(n-1)d
150m T,= a+6d 1
4 = 45+ 6 X (-3)
53° =
A gom p B 2|@ " ‘; -18
i) Tan 53" =PQ 1 I @
13270 =PQ . at(m-1)d=0
60 45+ (n-1)x(-3)=0
79.62m = PQ 1 (m-1)x(-3)=-45
80m = PQ 1@ n-1=-45
-3
iii) SinO = 80 n-1=15
150 ! n=16 !
o _ 03"53"330 5333 1 16 o 880® 36 O O Seso
mo ©. ) 15 O 888 gdemed BEOE i| @
,\O =32'14 1 O30 eied
PBQ > 30" @d. 1@
100 i) S,=n{2a+n-1)d
06. 588we® 5= (3t x2x | 1 _ 125 DX 45+ 14X (3)} .
=1 (2x+5) X 2x 2
=2x+ 5x 1 =15{90 - 42}
2
Semiesed 06 =" (x+2) X x 1 — 15 x 48 .
=% +2x%) 2
- 13
25 =3 X Y4 (¢4 2%) +4 1 = 360cm
2x°+5x - 4 =3x"+6x iv) ®@20»n® edoc = 360m 1
2 10s
4x°+10x - 8 = 3x"+6x =36cms’ 1
XHix -8 =0 : 10
dObe gbesens’ 08. i) AB ob@® Sb®reswsd 1
X+4x-8=0 60° emdens BB@rewwd 1
x2+4x =8 AC oband Sb®rencsd 110
‘Hx+4=8+ 1
¥ Hdxt4=8+4 ii) 0ominG obamd Sberecd | 1|®
x+2y =12
x+2y =+12° 1 iii) 82 ©w@dedcmn SOreHwd 1
x+2 =+23 1 0 cSseic »® /800 11Q
x+2=23ewix+2=-2[3 iv) Lo §€®0 1
=23 - =.2[3- 1
x$213_ 2ewix=-2[3-2 gde = 5.1+ 0.1 cm 880 1| @
x 8 goc
21732 v) CO &3 B8e0 i
_ - 80aE eces »H® |80 11 Q
=346-2 1{10 10
=146m — B

Re32980 ves gBIED E¢tiIHEDTRD - L3:OBOD o



09. i) CD = FF (¢5mw)
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